Document_2021

© Dassault Systémes | Confidential Information | 23/07/2021 | ref.: 3DS

3DEXPERIENCE’

SCAF HM 2021
Tommy VALKKI & Claes CARLSON

ASSAULT

2
DS E‘-ISTEMES

| The 3DEXPERIENCE" Company




ult Systémes | Confidential Information | 23/07/2021 | ref.: 3DS_Document_2021

© Dassa

THE "RECENT" HISTORY...

TS HIS POWERPOINT
Nykdping 2019 PResammA-

S & SCAF 2019
o

2019

—l Y
_i, g “ﬂﬂﬂ% Jonksping 2021

PAY

DASSAULT
SYUSTEMES



Document_2021

© Dassault Systemes | Confidential Information | 23/07/2021 | ref.: 3DS.

SCAF VIRTUAL DIALOG

Power By

3DEXPERIENCE | 3DDashboard Piraten Z ~

New Tab 1 3DPlay lssue > NewTab =+
ENOVIA - Issue Management - My issues (4)
Actions Title Name Matunty State Description
[~ - (D Powertrain Issus - Broken Drive ... ISS-R11321000865... (e
TP @ 350000 prd-R11321000865...  In Work
@ Transmission cpl <=> Engi... isr-R113210008863... In Work
@ Transmission cplinternal  is-R113210008863... In Wark
7 Fiter17 Filter-17 Private
QO & 2o prd-R11321000886... Released
1) Introduction of Pirate 2022 1S5-R11321000856.
+ (D Engine certificate 1S5-R11321000886.
+ (1) Legacy classification 1SS-R11321000856.

+ R & B

~ Power train Issue...
Opened 17 day(s) ago. O
491 Do & 21

¢ =2 ? w ©
1 Item(s) ® = 4
Reported Against
Tile Type A
‘ 20329 Physical Product |
‘ ,
Resolved by

Contexts ®
Title Type

350000

@® Transmission cpl <=> Interference simul

Physical Product =

@® Transmission cpl inten Interference simul
57 Fitter17 Advanced Filter  ~
‘ »

sue - Brok

(@ Powertrain |

Updated 24 hours) ago

® @ 20329 (pre-R1132100086635-000

[}

© 0 comment(s)

® v @p9 3P e O

H 30Piay - 200395 l o -

\’,L SCAF Virtuell Dialog

Power By

5 B3 Tre SOEXPERIENCE Carpary

PAY

Tommy VALKKI, Claes CARLSON

DASSAULT
SYUSTEMES



Document_2021

© Dassault Systemes | Confidential Information | 23/07/2021 | ref.: 3DS.

ISSUE MANAGEMENT SCENARIO

“PowerBy” session January 2101

Power train Issue...

ed b

2 s &
2 Item(s) @ =
Reported Against
Name Revision

* prd-R1132100086635-0008... A1

‘.
Resalved hy

Marng Revision
uct prd-R1132100086635-0008.. B1

Opened 18 day(s) ago. Owned
491 01 21 21 %0 m2den
‘

@

<>

Opened 17 day(s]
49 0

Power train Issue...

) ago. Owne

& 2 2 & 9
A
1 Item(s) =
Reported Agal ist
Title Type N
‘ 20326 Physical Product |
Powe:rain Iss. e - Broken Drive .. 1SS-R11321000866.. ‘il
< 6y = I
(54 @ 250000 pré-R11321009%06...  In Work
@ Transmissiin cpl <=> Engi... is-R#G210008663... In Wark
@ Transmissich cpl internal o is-R113210008863... In Work
7 Filter-17 Filter-17 Private
® @ 2o pré-R11321000866... Released
1) Introduction of Pirate 2022 1S5-R11321000686...
+ (D Engine cenificate 1SS-R11321000886
+ (1) Legacy classification 1SS-R11321000866

Save

Current Editor ﬁ_.J

S,‘.uﬂl\,.oﬂ‘r«tle Rev |Type

0 .an-

Od 203

=\

D7S DASSAULT

SYUSTEMES



nt_2021

© Dassault Systemes | Confidential Information | 23/07/2021 | ref.: 3DS_Docume

PRODUCT DEFINITION
What and when?
/\

BOM
Variant specific BOM / N\ Generic BOM

Model
Version

"Design Isolation”

7 DASSAULT
p SYSTEMES



Document_2021

© Dassault Systémes | Confidential Information | 23/07/2021 | ref.: 3DS

WHAT AND WHEN?

Fast and in parallel...

Simulations... Design isolation

» Millstone, freeze, tractability...  Controlled deliveries

. Model version » Access to reference

 Easy to use => faster
iterations

;S DASSAULT

SYUSTEMES



Document_2021

© Dassault Systemes | Confidential Information | 23/07/2021 | ref.: 3DS.

DEMO

ue
|:.."@ Engine In Work A.1 (Physical Product0000028 .3)
|_—..|‘® 25911 Common parts In Work A1 (25911 Common parts.1)

1

e
Iil—ejl_
III-e1
f L
=&
w&
%—e}
=&
|I|- L
=
4
|Tk©_
=&
=g
=N Y
T

+H-B

I"I—@ 25912 5TD Parts In Work A1 (25912 STD Parts. 1)
|i|‘! 25913 GT Parts In Work A1 (25913 GT Parts.1)

360134 Roller bearing D19 In Work A1 (prd00000191.1)
360135 Roller bearing D24 In Work A1 (POO000190.1)
360143 Needle cage In Work A1 (POO0O00189.1)
350137 Screw M3x16 In Work A1 (POO000188.1)
350137 Screw M3x16 In Work A1 (POO000188.2)
350137 Screw M3x16 In Work A1 (POO000188.3)
350137 Screw M3x16 In Work A1 (PO0O000188.4)
360144 Screw Mdx8 In Work A1 (POO0O00162.1)
360144 Screw Mdx™ In Work A1 (PO0000162.2)
360144 Screw MdAxE In Work A1 (PO0000162.3)
360144 Screw MdAxE In Work A1 (PO0000162.4)
360145 Engine Block In Work A1 (PO0000178.1)
360146 Engine bracket In Work A1 (FO0000182.1)
360146 Engine bracket In Work A1 (FO0000182.2)
360147 Engine - Cylinder head In Work A1 (FOO000179.1)
360148 Engine - Under cylinder head In Waork A1 (POOOGA0
360149 Engine - Spark plug In Wark A1 (POOG00185.1)

PAY

DASSAULT
SYUSTEMES



1202 1uswnood Sae :Jo! | 1202/L0/€T | uonewoju] [enuspyuo) | sewalshs jnesseq @

2
DS 2o



2
DS Sasear



DIFFERENT NEEDS, DIFFERENT VIEWS

\ \ ‘ g

PAY

DASSAULT
SYUSTEMES



DIFFERENT STRUCTURES?

O coes ngm:..'f.‘.. s Joi

.~/',

THTHELT

.\\

- = -

/
- T ./ A , =
= = =
7 ‘L- = \ l,-
=i A= '\'L/ =
., B
- 8| — &
| S B g S

O e @ vesor () Suom
\ )

2

DS 2o



